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Need to switch to the reverse rxn
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Beyond the equivalance point
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HCIO

5) Without any NaOH yet

The simple acid equation with no NaOH added

(4,3 Half way to the
equilvalence point !!

pH = pKa b/c the concentrations of the acid and base
are the same.
7.) Need to switch to the reverse rxn

Must use reverse reaction b/c NaOH now becomes
important.

Lab’ .022Mat the end.

QI) Beyond the equivalance point

Must use reverse reaction b/c NaOH now becomes
important.

Must use total amount of mL for the salt (NaClO). Use
the Kb
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